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ABC A, 

ABC A

B C

A 

B C 

 
d 

ABC A = x 

AC − AB = d ABC 

CD CP = d 

P x DPM 

C a PM 

B 

B C 

 B DPB = PBA BA CD

A 

ABC-





ABC BC = 6  

x, AB + AC = 9  

BY BC = 6 

XBY = x 

BX BD = 9  

C,D 

CD AL BD A 

A, C ABC -

 C, P 

Q 

C

Q 

  11 bs cª‡kœi mgvavb   

PQR–

P, Q PQ AB 

C, P CP AB O 

O OP PQR

O, Q AB OB PQ -

 OP = OQ 

O OP Q 

P P 

P 

P O OP 

O PQ A 

A PQ 

O PQ OD 

DO E 

E, A EA B 

A AF ⊥ PQ 

O, B AF Q  

Q

Q QA QB ABC 

ABC-

 C P Q 

CP = 2 .

P 

Q 

a = 6 . 

C 

  12 bs cª‡kœi mgvavb   

C P Q 

C,P CP 

= 2





P, Q 

PQ- AB CP O

O, Q

O OP OQ 

PQR

O, Q AB PQ 

 OP = OQ 

 O OP Q 

P P 

P 

P 

O OP 

N 

a = 6  

d = 2  

EF E FEN = 45 NE B 

BE = d 

B a 

EF C 

C ECA = 45 BN A

ABC-

 O PQR DE 

F 

F DE 

PQR Q 

LMN N 

PQR R

  13 bs cª‡kœi mgvavb   

F E 

O PQR DE 

F

O DE OC CO PQR

R 

R, F RF, PQR Q 

O, Q S 

F FB ⊥ DE FB OS B

 B BF BQ 

FB ⊥ DE                               [ BFD = 90] 

F DE Q 

Q 

 QFA-





O PQR R B 

LMN N 

O R B N 

O, R OR D 

R PQR RC 

B RC BE BE 

L 

L, R LR LMN N 

B, N BN RD A 

A AN AR 

O R RC RC ⊥ OR.

RA ⊥ RC. AR RC 

A R O 

AB = BN + AN. 

BN AN A B 

B N 

 A DNR 

 45 60

7

  14 bs cª‡kœi mgvavb   

60 

a 

b 
45

7 x 

X B 

C 

60 

A 

7

D 

Y 

L 

45

BC = 45

AB + AC = 7 ABC = 60  ABC

BX BC = 45

XBY = 60

BY BD = 7

C, D

CD BD A

A, C ABC-

x = 60 

B M C a 

L 

A 

D 

Q 

P 

a 

s 
45

7

a, x = 60

s

BM a BC

C
1

2
x BCD

CD C CP

B s

CP Q

B, Q

CQ C BQC QCA

 CA BQ A

ABC





 i. ii. O

P Q

10 6

(i)

(ii) Q

P

  15 bs cª‡kœi mgvavb   
= 10

= 102 − 62 

   = 100 − 36 

   = 64 

  64 = 8

Ans.) 

d 

a 

B 

F 
E 

C 

A 

N 

a

d

EF E

FEN = 45

NE EB EB = d

B a

EF C

C EC ECA = CEN

CA EN A

ABC

O, P Q

P Q

O 
C 

P 

B 

A 

R 

Q 

P, Q

PQ AB

O, P

OP AB C

C CP PQR

m„Rbkxj cÖkœe¨vsK DËimn 
 5 7

60

 a = 4 b = 2 

a, b c = 
a + b

2
 

a, b, 
a + b

2
 

a b 

 a = 5 6 = 12 c = 13 d = 1.5

a, b, c

a d

  ABC B = 45

BC = 45 AB − AC = 2.5





BC = 46 AB + CA = 82

Aa¨vq mgwš^Z m„Rbkxj cÖkœ I mgvavb
  ABC − AD PQR 

h, d x. 

AB2 + AC2 = 2(AD2 + BD2).

PQR

  20bs cª‡kœi mgvavb   

A 

B D C 

 BC  AD BD. 

B D C E 

A 

B D E C 

A 

 ABC– AD. 

AB2 + AC2 = 2(BD2 + AD2) 

A  BC  BC–  AE

ADB

AB2 = AD2 + BD2 + 2BD . DE ............ (i) 

ADC

AC2 = AD2 + CD2 – 2CD . DE 

AC2 = AD2 + BD2 – 2BD . DE [ BD = CD] ...... (ii) 

 (i)  (ii)

BA2 + AC2 = AD2 + BD2 + 2BD . DE + AD2 + BD2 – 2BD . DE 

  AB2 + AC2 = 2AD2 + 2BD2 = 2(AD2 + BD2) 

h 

x 

N 

E 
R D Z Q 

B 

M 
A 

P 

h 

d 
x 

D 

 QE  Q x  EQA

Q QE BQ

BQ h QM

M QE  MN  

QA P

P  d 

 QE  D

QE  QD = DR

P, R  PQR–



P 

S R 
Q T 

60 

4
 †

m
.w
g
. 

6 †m.wg. 

PRS RS T

PR

RS R

2

  21 bs cª‡kœi mgvavb   

PQR PQR = 90 PRQ = 60 

  PQR sinPRQ = 
PQ

PR
 

 sin60 = 
4

PR
 

 
3

2
 = 

4

PR
 

 3PR = 8 

  PR = 
8

3
 = 4.62 (Ans.) 

PRS T, RS PT

PQ ⊥ RS. 

 PR2 + PS2 = 2(PT2 + TR2) 

 PQ ⊥ RS 

  PQT = 90, PTQ PTS

PTR PTR RT PT QT





 PR2 = PT2 + RT2 − 2RT.QT................ (i) 

 PTS PTS

PS2 = PT2 + TS2 + 2TS.QT 

  = PT2 + TR2 + 2TR.QT.......................(ii) 

 [PT RT = TS] 

(i) (ii)

PR2 + PS2 = 2PT2 + 2RT2 

  = 2(PT2 + RT2) 

B 
60 

6 †m.wg. 

a 

60 

60 
2 †m.wg. 

6 †m.wg. M 
C 

P 
A 

D 

 

a = RS = 6

x = 60 d = 2

BP BD = 2

D x

PDM B a

DM C

C DCA = PDC BP A

ABC


